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5. %7 S @ @vsl 7 & — wug-ar 5 This question booklet is divided into

09 WUT-H/
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5. frt @ & st v &

waim qofar afid 21
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two sections — Section-A and
Section-B.

In Section-A, there are
100 objective type questions, oul
of which any S50 gquestions
are to be answered [irsl
50 answers will be evaiuated in
case more than 50 questions are
answered. Each question carries
1 mark For answering these
darken the circle with blue / black
ball pen against the correct option
on OMR Answer sheet provided 10
you. Do not use whitener / Hguid
/ blade / nail etc. on OMR-sheet,
otherwise the resuit will be
treatad invalid.

" In Section-B, there are 30 short

answer type questions, out of
which any 15 questions are to be
answered. Each question carries
2 marks. Apart from these, there
are 8 long answer type
questions, out
4 questions are to be answered.
Each question carries § marks.

of which any

Use of any electronic appliances is

strictly prohibited.
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uvg - & / BECTION - A

TWFTS W¥ / Objective Type Questions

q¥r wwr 1@ 100 7% & w¥r & Wng i frwey Ry my § frd @ v w7
Wsomf*mmmg#waﬁﬁwdomvﬁz v fafgd
LT 50 x 1 = 50

Question Nos. 1 to 100 have four options, out of which only one is correct.

Answer any 50 questions. You have to mark your selected option on the
OMR-Sheet. 50x1=50

L R P(%-‘)-ﬁ%ﬁ A(-6,5)T B(-2,3)® W T WG T

) -4 (D)

If P[%, 4] is the mid-point of the line segment joining the points

A(-6,5)and B(-2, 3), then the valuc of ais

(A) -8 B) 3
< -4 (D) 4
2. R i farg Tt o Al 3R WA s 1 K W A 2
A) 1 B 2
) © ) 3

If three points are collinear then what is the arca of the triangle

made by them ?
(A) 1 B) 2
€ 0 D 3
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[110]
afe aapc & Yl F f¥ww A(-1,0), B(5,-2) W@ C(8,2) & d

S FgH & NE el

(&) (12,0) (B) (6,0)

(C) (0,6) (D) (4,0)

If A(-1,0), B(5. -2} and C(8, 2] are the vertices of a AABC then
co-ordinates of its centroid are

(A)  (12,0) B) (6.0)

(€} (0,6) (D) (4,0)

af} Brq@ ABC ¥ AD, ZBAC® 3%  aul AB = 10 ®fl, AC= 14 adl,

BC=6RM A DCHAHE
(A) 2-58H (B) 3-5uf
(Cj 4-5 (D) a4@A

Il in AABC, AD is the bisector of /BAC and AB = 10 cm,
AC = 14 ¢cm, BC = 6 cm then the value of DCis
(A) 2:5cm (B) 35cm

(C) 45cm (D) 4cm

fig@ ABC HDE || BC wm%%%’é:%.aﬁac=s-ewa

AE=7?
A) 4-28df (B) | 3-1 ot
) 28uf (D)  2-1 3
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In AABC, DE || BC such Lhat %g':g" [f AC = 5-6 ¢m then AE = ?
(A) 4-2 cm B) 31lem
(C) 2-8cm (D) 2'1em

af A wee Fgell € dm el W e 5 ;6 @ @ I S F
HATE g

(A) 25:36 B) S5:6

(€) 36:25 (D) 15:16

If the ratio of corresponding sides of two similar triangles is5:6

then the ratio of their perimeters is

(A) 25:36 B) 5:6

(C) 36:25 (D) 15:16

AABCH AB= 643 @i, AC= 12 8l awn BC = 6 @t @l ~BEM
(A)  45° (B) 60°

(C) 90° (D) 120°

In AABC, AB= 643 cm, AC= 12 cm and BC = 6 cm then /B is

(A) 45° (B) 60°

(C) 90° (D) 120°

af wwarg figd ABC ) @& ¥ 12 3 7w wwwg e DEF 1 F
3% (AABC)

¥ 6 ft & A FAFA (ADEF)

(A) 2:1 B) 1:2

(C) 4:1 D)y 2:3
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10.

[110]

If one side of an equilateral triangle ABC is 12 cm and one side of

' - . arca (AABC) _
equilateral triangle DEF is 6 cm then arca (ADEF )

(A) 2:1 8 1:2
C 4:1 D) 2:3

AABC W@ APQR wiww fna & famd A, ¥ A4 @ sc ® v § Am
PTYH PAQRW e §1 QR AD =9 &t @@ pr=7 &ft @ @ T

ABC 7wl fin[@ POR & §3%d &1 3@ €
A} 9:7 B 7:9
(C} 16:25 (D) 81:49

AABC and APQR are similar triangles in which AD is perpendicular
from vertex A to BC and PT is perpendicular from vertex P to QR. If
AD =9 cm and PT = 7 cm, then ratio of areas of triangle ABC and

triangle POR is

(A) 9:7 B) 7:9

(C) 16 : 25 (D) 81:49

= waaTE Fge A e 12 &0 @ @ e e e

(A) 642 3N o (B] 643 &f

(c) 3J6 udft (D) 646 &

If one side of an equilateral triangle is 12 cm then its height is
(Al  6J2cm (B) 6/3cm

(C) 3J6cm (D) 6J6cm
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13.

. N -
R TU

%ﬁfémmﬁ%mﬁ@mmtﬁﬁé%ﬁ!

(A 10 /= (B s
) 53 (D) 12 ¥W

The distance berween two paralle] mangents of a circle 1s 10 cm.
Then the radius of the circle is

(Al 10 cm (B) 8em

() Sem M 12cm

7! g afé oI ¥ | wew W w @ @ at whe witeed H Fen =
gl 2

(A) 1 B) 2

c 3 (D} 4

If two circles touch each other externally then what is the number

of common tangents ?
A 1 | 2

cy 3 (D) 4

it o g p @ 39 W PA W PB A ol tand i b1 R
PA-6 Wt @ PB=

(a)  12&H B) 6uR

(c) 8@ (D) 18®d

izq(u]-ws—uom—muqi Page 7 of 48
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LS.

(110]

From an external point P, two tangents PA and PB arc drawn on a
circle, Il PA= 6 cm then PB =

(A] 12cm (B) 6cm

(C) 8cm (D) 18Bcm

IR 3 Af e o O g W A 1 vitan] wER 60° ¥ A W gH
& A e antr A v &

(A} 2¥3 o (B) -32£ﬂrﬁ
4 #dt

(C) 343 &t (D)

If two tangents drawn on a circle of radius 3 cm are inclined to

cach other at an angle of 60°, then the length of each tangent 1S

(A) 2/3em (B) -—3'2{-3:cm
(C) 3J3cm (D) 4cm

uf? sin(20°+8) =cos30° 0% TH B

(A) 30° (B)y 40°

([C) 50° (D) 60°
If sin{20°+0) =cos30° then the value of 0 is
(A) 30° (B) 40°

(C) s0° (D) 60°
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16. ufe aaBCHsC=90°@ sin A+ B)=

(A)

(€)

0

1
2

Ifin AABC, ZC=90° thensin(A+ B) =

(A)

(C)

a

L8
2

17. sec?23'-tan?23"'+2 =

(A)
(C)

0
2

B) 1
Dy L
(D) =
(B) 1
Dy L
(D) 5
B 1
o) 3

18, T2 xcos@=1,tan 8 = ydl x*- y’ FWUA 2

(A)
(C)

If xcos@=1, tan 6 = y then the value of x?-ylis

(A)
(C)

2
-2

2
-2

B O
o 1

19. 3R ma:%ﬁsinﬁ-

(A)

(C)

wis we

B) O
- (D)
® 3
o 32

[110]

[24(M)-H/S-4 1001-e0/60) |
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(110

If tanﬂ:% then sin 0 =

4 . 2
3 ® 3
2 3
€ 3 D 3
’ l+cos A
=4 l-cosA
(A) cosec A-cot A (B) cosecA+cotA
(C) «cosecA.cotA (D) sinA.tan A

21. tan 5° . tan 25°. tan 30°. tan 65° . tan 85° =

Ay 1 B) 3
(C) 7!-5 (D) -;-
22. cos 38° cos 52° - sin 38° sin 52° =
A1 (B) O
2 o 3

cosecc 42" cos 37"
23. T X — =
sec48 sino3

1
(A) O (B) 3

cy 1 (D) 2
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25.

[110]

R tan{a + B} =v3 3N tana =7%?ﬁmnﬂmmt

w 1 B =
c - 7
(€) 7 (D) &
If tan(a + B) =¥/3 and tana =—}_§ then the value of tan p is
1 1
™ 3 ® 1
© I o
P | ¢ ntl_
JE (Slnz -l‘COSE] =
(A) V2 ' B) 2
1
© 1 I

; 2
26. 34t acos0+bsind=4 Tl asin0-bcos0=3 @ a? +b° WU 2

& 7 B 16
© 25 (D) - 36

If acos0+bsiné=4 and asinf-bcosf=3 then the valuc of

a’ +b2 iS
(A) 7 (B) 16
(C) 25 (D) 36
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27.

28.

29.

[110]
& gl & SFEE T HIIE f;y’%?hsaﬁﬁmaﬁmmgmm

A 2y B) vx Wy

€ u x. Dy x:y

The ratio of the areas of two circles is x°:y”. Then the ratio of
their radii is

A x*:y B) Jx:y

) y:x (D) x:Y

Rt 53 #1 ST 495 a1 At  dt e ST A

(a) 7¥d B 14 &t

(C) 49 @ (D) 21 &

The area of a circle is 49r square cm. Then its diameter is

(A)  7cm (B) 14 cm
(C) 49cm (D) 2lcm
5w § 14 @ B & ofga & g a8 i gl 2
(A) 400 B) 440 ®h

(C) 2g8sudi (D) 388 &

The distance covered by a wheel of radius 14 cm in S revolutions is
) 4d0cm (B) 440 cm

I S am (D} 388 cm

[24(M)-H/S-41001-ts0/0)] Page 12 of 48
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30. TH J0 ) AT U6 (& T F Y5 q0N @ A 37 oRffadl w1 e
B
A 101 B) 2:=x
(C) =n:2 D) x:2

If the area of a circle is equal to the area of a squarc then the ratio

of their perimeters is

(A) 1:1 (B] 2:-x
(C) m:2 (D) Jx 2
31. T p(x)=x'-5x+6 W g(x)=2-x’ AR L((%, %1 9@ g
g(x
A) 2 (B) 4
© 1 D) 3
If p(x)=x4 -5x+6 and q(x)=2—x2. then the degree of g::]] is
(A 2 B) 4
€y 1 (D) 3

€) xP+—5=5 (D] 2x*-5x=(x-1)

Which of the following is a quadratic equation ?

(A) x2-3Jx+2=0 (B) x+'}l}' =x?
(€} xP+-5=5 D) 2x*-5x=(x-1)
X

[24(M)-H/S-4100 1-worsal] Page 13 of 48




33.

34.

35.

[116.
a2 Ream @ fe x? 4+ 2kx+4=0 T CH A 22 A k %1 WH FM
(A) =1 (B) -2
(& ] D) -4
Il one root of the quadratic equation x” +2kx+4=0 is 2, then the

value of kis
Al -1 B) -2

cy 2 Dy -4

AR (x+3), ax¥+ x+1 W@Mﬁm a %1 5[ &

A) 3 (B

(] [Va)

(C)

0N

> 9

Il (x+3) is a factor of ax® + x+1 then the value of a is

A) 3 ® 2
@ £ O 9

p % fhe 7 ¥ fou Rum wiem pxz-2x+3=(}ﬁ?‘ﬁ~!afﬁlﬁﬁ;qai
B B P

A) 1 (B)

|

€ 3 (D)

A | —

‘|24|M1-Hjs-41001-lsom. | Page 14 of 48
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37.

(110]

For what value of p, roots of the quadratic equation px’ -2x+3 =0

arc real and equal ?

(A) 1 1
(B) 3

(€ 3 1
(D) 5

fram @t 6x? - 3x+5=0 & qEl A wpfa w1 gt ?

(A) TS TE IEEE (B) aTeafy® wd §AH

() drales T8 (D) wHASE A

What is the nature of roots. of the quadratic equation
6x*~3x+5=07

(A) Rcaland uncqual (B) Real and equal

(C) Not recal (D) None of these

afe fama wftE@ x* +x-20 =_0$W$![§l4ﬁﬂ’lﬁﬂ‘@qu-|ﬂm
(A) 9 (B -4

c -5 (o) 3

If one root of the quadratic equation x2+x-20=0 is 4 then its

other root is

(A) 5 (B) -4

c -5 (D) 3

|24(Ml-H/S-4 lOOl-«nllmi Page 15 of 48
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39.

40.

| 110
2 R G X% +6x05 -0 FqF a T PA A o +p? &1 7 Em
(A) 30 (B) 16
€ 26 (D) 20
If @ and B .are the roots of the quadratic equation x2+6x+5 =0
then the value of o2 +[32 is
(A) 30 B) 16
€ 26 (D) 20

feam adtem pxz—qxi-r:O. p20 & @g

(Al q:I:qu-ﬂtpr qt Jq2+4pr

-q:l:dqz-iipr —qi\iq2+4pr
(C) £S (D) L

The roots of the quadratic equation pxz-qx-l-r:(). p#0 are

(Al _q_:l:-qu-—tlpr qu 2+¢-lpl"

q
-qi'Jq2-4pr —qi:-Jq2+4pr
©) 5 (D) T

TFQ X =-1 aﬂ giftwtori 2x2+3x+p=0 at qxn-qx+4=0 1 TH
mﬂﬁﬂ‘[ﬁ'ﬂ?ﬁp-*qmmm

(A) 1 (B} =1

c 2 (D) -2

[24(M]-H/S 41001 -(60/50)] Page 16 of 48




41.

42.

[110]

If x=- 1 is a common root of both the equations 2x*+3x+p=0
and qxz—-qx+4=0 then the value ofb+ q is

(A) 1 (B) -1

c 2 (D) -2

we g ) T, e @ S Fuw: 15 f, e @ SH A A wm E
yred gt &R {im

(A) 2001 ? B) 21072

(C) 250+ ? (D) 220 ?

The length, breadth and height of a cuboid are 15m,6mand Sm

respectively. Then the lateral surface arca of the cuboid 18
2
(A) 200m? (B) 210m

(C) 250m?* (D) 220m?

saﬁgmarémﬁﬁ4ﬂwﬂgmméﬁﬁﬁmmmmi?
(A) 4 (B) 8

(c 12 (D) 16

How many cubes of side 4 cm can be formed from a cube of side

8cm?
(A) 4 (B) 8
(C) 12 (D) 16

i s— '
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J
"! m%mmﬁlﬂ%ﬁwﬂm;séﬂl.aﬁfﬁﬁﬂl 5 & €, 1 Rraemn

& o w1 T A o O (e el ¥ 8 2
w7202 (B) 1448 "
(€ 128@H ) 256 8t

Three cubes of metal with edges 3 ¢cm, 4 cm and 5 cm respectively

are melted to form a single cube. What is the lateral surface arca of
the new formed cube ?
(A) 72cm?® (B) 144 cm”
(€) 128 cm? (D) 256 cm”
44. A el N Fremall & ague 2 : 2 3 TR S = NGO 5: 32 A
TF T F I 8
(A) 27:20 B) 2027
€ 4:9 (D} 9:40

The radii of twe cylinders are in the ratio 2 : 3 and their heights are

in the ratio 5 : 3. The ratio of their volumes is
(A) 27:20 (B) 20:27
C) 4:9 (D) 9:40

45 ﬁ&mﬁlwmﬂmlreoﬂtﬂzﬂﬂmmﬁmwﬁﬁm
14 4 2} A ) S=rd @l
(A) 10 @t B) 15 @
(€) 20%d (D) 40 3

——
e —

24(M)-H/S-4 1001 -s0s60) Page 18 of 48




46.

417.

(110 ]

If the curved surface area of a cylinder is 1760 cm? and its base

radius is 14 cm then its height is

(A) 10cm (B) 15Scm

(C) 20cm (D) 40cm

s U % TR @ wiw Bow 4 A st ek e 3 3 1 AR wH
@ 10 Ot @ @ uIg w1 e g

(A) 120 & 3 (B) 220%#°

(C) 440@h 3 (D) 1540 aft

The external radius of a pipe of metal is 4 cm and internal radius is
3 cm. If its length is 10 cm then the volume of metal is

(A) 120cm’ () 220cm’

(C) 440cm’ (D) 1540 cm®

afz Rt i & Imur A B r & Y fd® dud [ R, @ 9% T T
g I QFH &N

(A) 3 arl (B) nrl

) (D) 2

If ris the radius of the base of a conc and ! is its slant height then

the curved surfacec area of the cone is

(A) 3 nrl (B} mri

(C) Lart (D) 2 =rl

3

[24(M)-H/S-41001-t60/60) | Page 19 of 48
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[110|

14 3 =@ AT NS w1 e JHT FAHT
2
(A) 147 2 8} 2 @ 198 2%

2
(C) 488 n @ 2 (D) 396 n ¥

The total surface area of a hemisphere of diameter 14 cm 1S

(A) 147 nem? (B) 198 mcm?

(C) 488 ncm? (D) 396 ncm?

U % & AR 1570 9° R qR s amm w1 SEee 314 a2 R,

@ s Fard §
(A) 10 @ (B) 15 @t
(c) 18 &t (D) 20 &

The volume of a cone is 1570 c¢m®>. If the arca of its base is
314 cm? then its height is
(A) 10ecm (B) 15cm

(C) 18cm (D) 20c¢m

24[M]-H7§-41001-1mfm;| , Page 20 of 48
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50. R @& men ) fiwn 2r & @) wEw e Bm
(A) gg-ﬁ-d (B) 16nr°
3 3
(C) gnr’ D 64 nr’
3 (D) 3
If 2r is the radius of a sphere then its volume is
32nr 3
A =3 16nr”
3 (B) 3
(C) 8 rr’ 64 nr’
= o ==
51. m')ﬁ-s,-%,z .. @ 1131 9 70 gm ?
(A) 28 (B) 22
(C) -38 (D) -48
What is the 11th term of the A.P. - 3, - % 2,..?
(A) 28 (B) 22
() =38 (D) -48
s2. Wi 441 41, 38, 35,..., 8 i gat 1 v 2
(A) 12 B) 14
() 10 (D) 15
The number of terms in A.P. 41, 38,35,...,8is
A) 12 (B) 14
(¢) 10 (D) 15

Page 21 of 48
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53. WHiM AA 2, 4, 6, 8, ... % FuW 50 Y& W A &M

(A) 2500 (B) 2550
(C) 2005 (D) 2000

The sum of first SO terms of the A.P. 2, 4, 6, 8, ... is

(A) 2500 B) 2530
(C) 2005 (D) 2000
54. Rz (27, -3 ) Pruaqutniiz
(A) wum @ R
© g (D) =g
The point (247, - 3} lies in which quadrant ?
(A) first (B) second
(C) third (D) fourth

55. Mgl (2cos0,0) 7 (0,25in0) *dfafight
(A) 1 B) 2
) 3 . (D) 4
The distance between the points { 2 cos 8,0)and (0, 2 sin® )is
(A) 1 (B) 2

€ 3 D) 4

T e —
24(”)""13'41001-«0:?01—] Page 22 of 48
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110 |
o WY x = - 2 7Y y = 3 He g 2

A) (-2,3) B) (2,-3)
€ (3.-2) D) (-3,2)
The intersecting point of straight lines x=-2 and y= 3 is
(A) (-2,3) B) (2,-3)
€ (3,-2) (D) (-3,2)

frgat (7,-4)@ (-5, 1) s MR

(A) 12 (B) 13

(c) 11 (D) 5

~ The distance between the points (7,—4 ) and (-5, 1) is

(A) 12 (B) 13

) 11 (D) 5

_y_aquasfigahﬁq![s,-z)uﬁ(-3,2)?1:3::?;5@1-@1,3

A) (0,3) (B) (-2,0)

€ (0,-2) (D) (2,2)

The point on y-axis which is equidistant from the points (5, - 2)

and (- 3,2)1s

(A) (0,3) B) (-2,0)

(C) (0,-2) (D) (2,2)

34(M).H/5-41001-(e0/60)] Pagc 23 of 48
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| 110
PORS T 3T 2, Fre i £(0,0), 0(60) R{& 2]

S(0, 2 )% @ A F Yahed g

Al 6 B 8
C) 16 (D) 12

PORS is a rectangle whose vertices are (0, 0), Q(6,0). RI 6,2)

and S(0, 2 ). The area of the rectangle is

A 6 B) 8

© 16 D) 12

e A(a,0), B(0,0) T C(0, b) Rt aABC ¥ Wi¥ & @ AABC
BA% &

(A} ab B) Sab
@ Za’p? ©) 3 b’

If A(e,0), B(0,0) and C(0, ¥) are the vertices of AABC then the

area of AABC is

(C) %az b2 (D) _% b2

24(M]-H/S-41001-1e0/e0)
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62.

63.

(110
freferfaa & w agug f ? 2
A x'+d5 B 9x*-ax+y2
[C] %xa+%x?+8 (D} x.,.%

Which of the following is not a polynomial ?

(A) x*+45 ' (B) 9x°-4x+42
(C) Ldedx? 8 (D) x4
2 S . x

qERE (x° +x2+3x) (xO +x®+x7+1) F1 U R

(A) 9 B) 6

{C} 11 (D) .10

The degree of the polynomial (x5+x2+3x] lxﬁ +x° +x2 +1) is
(A) S B) 6

() 11 (D) 10

TEYE 1% 11 F IH ¢

(A) 11,-11 B) 11, -J11
€ J11,-J11 (D) V11, -11
The zeroes of the polynomial x? =11 are

A) 11,-11 B) 11, 411
€ V11, -11 D) J11,-11
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64,

65.

66.

[llD]
TR - 2@ - 3 Row wgwe £ +(a+l)x+b ¥y &

A a=-2,b=6 (B a=2,b=-6
(C) a=-2,b=-6 M)y a=4,b=6
If - 2 and - 3 are the zeroes of the quadratic polynomial

x?+{a+1)x+b, then

A a=-2,b=6 B) a=2b=-6

(C) a=-=2, b=-6 D) a=4,b=6

I WEYR - 9x+a ¥ YRH = HET 82 M a H FH @
(A) o9 o - (B) -9

(C) 8 | D) -8

If the product of zeroes of the polynomial x*-9x+a is 8 then the

value of a is

(A) 9 B) -9

(C) 8 (D) -8
frefeiftea 4 fore fGad agge S yF 4w - 28 7

(A) x?-2x-8 (B} x*>+2x-8

(C) x?-2x+8 (D) x%4+2x+8

|‘24[M]-H/S—41001-cm1wi Page 26 of 48




67.

68.

. [ 110)
Which of the following quadratic polynomials has zeroes
4and -27?

2
(A x"-2x-8 B) x%+2x-8

2
Sl D) x?+2x+8

TR plx)=x’ +3x-4 % GF o p et @t 22 o e @M

{A) -1 B) 1

(C) 4 (D) -4

If @ and B are the zeroes of the polynomial p[x]=x2+3x-4 then

the value of GTH is

Ay -1 B) 1

< 4 Do) -4

7fe TEIE g(x) F TE [IF - 3 @A g(x) 1 Th PGS @
(A) x-3 B) x+3

1
X -3

l
(C) L =3

Il one zero of the polynomial g{x) is - 3 then one factor of g{x) is

A x-3 (B) x+3

() 1 (D)

x—3 x+3

[24(M]-H/S-41001-te0/60)] - Page 27 of 48




69,

70.

7L

[110]
E1GIIE
T fix)=x? - 200 —xe2 M g(x)=x?-3x+2 ¥ W @ A

WIS &1 9T B
(A) 4 B) 2
< 3 (D) 1

' 2
Il fix)=x"-2x>-x+2 is divided by g(x)=x°-3x+2, then the
degree of the quotient is

(A) 4 B 2

(Cy 3 D) 1

al} wx9e X -3(x+1)-5F Y TH W R A D (a+1)(f+1) B AA M
(Al 3 B) -3

€ -4 _ (D) 4

If @ and B are the zeroes of the polynomial x?-3(x+1)- 5 then the

~value of (a@+1)(B+1) is

Ay 3 ® -3
C) -4 ' (D) 4

- wum g9 T wematt = aney 2

(A) 100 (B) 10
€] S0 @) 20
The mean of first ten consecutive odd numbers is
(A} 100 (B) . 10

€ S0 D) 20

—
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72.

73.

74.

[110]
15,6, 16, 8, 22, 21, 9, 18, 25 # Frfyw 2

(Al 16 (B) 15

< 21 (D) 8

The median of 15, 6, 16, 8, 22, 21,9, 18, 25 is
(A) 16 (B) 15

(C) 21 (D) 8

0,6,5,1,6,4,3,0,2,6,5, 6% g ¢

A S (B) &
() 2 D 3
The mode 0f 0, 6,5, 1,6,4,3,0,2,6,5,§is
A) S B) 6
c) 2 ™ 3

T ST 924 % AR @ Iged T 48:64 T 46°52 & W

Hren &N
(A) 4970 (B) 49
(C) 50 (D) ¥ & B

i24(M)-H[ S-41001 -:ewmi Page 29 of 48




75.

76.

(110
cerrbuti e 4864 and
The median and mode of a frequency distribution &r

46-52 respectively. Then its mean is
(A) 4970 (B) 49
(C} SO - (D) none of these

afe qfa A x, x+ 2, x+ 4, x + 6@ x + 8 H WA 118 @ xH HA
am

A) 5 @) 6
< 7 (D) 8

[f the mean of five observations x, x + 2, x+ 4, x+ 6 and x + 8 is

11 then the value ui‘x_ is

(A) 5 (B) 6
c 7 (D) 8
Teh HEWE 921 6 Wikshal F41 goft 2
1
Al 3 B) 0
c) 1 (D) 1WA

What is the probability of an impossible ¢vent ?
(A] (B) ©
2

c 1 (D) more than 1

— _—-—._
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F

78.

79.

| 110]
R P(E)=0-4 A P(E') ®uEa R

(A) 096 (B) 06
€ 1 (D) 006

[f P(E) =04 then the value of P(E)is

(A} 096 (By 06
A . (D) 006
Q) urEl F S gwa g ) Fe 2

(A} 12 ‘ (B) 20
(C) 36 (D) 6

In the throw of two dice the number of possible outcomes is
(A) 12 (B) 20

€ 36 (D) 6
Crefrfig 4 - aer Redt gz ) ik 78 @ vl 2 2

(A) 06 (B) 15
(C) 75% (D) %

Which of the following numbers cannot be the probability of an

event ?
(A) 06 B) 15
(C) 75% (D) -52-
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81.

82.

[ 110
& T A S F ey g T8 s ) iR E 22

1
(A) O B 7

1
(C) 3 (D) 1!

Whal is the probability of not getting an odd number in a throw of
a die once ?

Al 0 1

(A) B 3
1

{C) 3 m 1

e 2a+3b=8VH 3a-4b=-5 A

(A) a=1,b=2 B) a=2,b=1
(C) a=-1,b=2 (D) a=2,b=-2
If2a+ 3b-83nd3a—4b=;5,t}1cn

A) a=1,b=2 B) a=2, b=
(C) a=-1,b=2 (D) a=2, b=-2

W wfih W 2x -3y =8 @ ax-6y-9 3

(A) (B) &g

(C) i () A = 7

The pair of linear equations 2:—3y;3 and 4x-6y=9 gr
= e

(A) consistent (B)  inconsistent |

(C) dependent (D)

none of these

24{M)-H/S-41001-(s0, 60 |
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83.

84.

1110
FflaW 2x +3y=4 T8 4x+6y=12 & A fom ywR H T@ @

gl ?
(A) HII TTE tard (B) EHiw W TN
€) = o= @ (D) ¥ A H T

The graphs of the cquations 2x+3y=4 and 4x+6y=12 are which
Lype of straight lines ?

(A) Coincident straight lines

(B) Parallel straight lines

(C) Intersecting straight lines

(D) None of these

THftao FIFT 2x-3y+1 =0 AW 3x+y+2=0 % A1 g € ?

A) THIRFATHEER  (B) S EA A
() Afa & (D) 7 A & A

How many solutions does the system of linear equations
2x-3y+1 =0 and 3x+y+2 =0 have?

(A) one and only one solution

(B) no solution

(C) infinitely many solutions

(D) nonec of these
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86.

87.

[ 110,
k % f5g 9 ¥ Rre e fea x+2y=3 T sx+ky=15 & 3

wi?
Al S : B8] 10
€y 6 (D) 12

For what value of k, has the system of lincar cquations X+2y=3

and Sx+ ky= 15 infinite solutions ?

(A} 5 (B) 10

(C) 6 (D) 12

Frafofan § o som 3@ 2 2

(A) 0-3,0:33, 0-333, ... (B) 1,11, 111,...

(C) 2,4,8,16, .. (D) 0,-4,-8,-12,..

Which of the following is an A.P. ?
{A] 0-3,0-33, 0-333, ... N PR LN & & T
{C} 2,4,8,16, ... (D) 0,-4,-8,-12,...

p&fraom & e (2p+ 1), 13, (5p-3 ) Emm dh H 2 2

(A} 3 B 4
() 12 Dy 6
For what value of p, terms (2p + 1], 13, (S5p- 3 ) arc in AP, ?

(A) 3 (B) 4 '

(€ 12 L) 6 ‘
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8.

89.

80.

: (110]
R a WA AP 3, 8, 13,18, .. W n A @R A ay -ap T T

gm ?

If @ is nth term of A.P. 3, 8, 13, 18, ... then what is the value of

Qp5 =0y 7
(A) 50 B) 75
(C) 40 D} 55

Wi@mmwxsiwmsﬁmzsafﬂiﬂwmm

M
Ay S (B) 4
(c) 3 D] 6

The 2nd term of an A.P. is 13 and its S5th term is 23. The common

difference of the A_P. is

(A) 5 (B) 4

() 3 D) 6
uﬁmﬁﬁ%mnqﬁmﬂﬂ(&-nzli?ﬂmwmmm

gm
A) 4 (B) -2

(€) 2 {D) 6

34(M]-H/S-41001-(s0/60) Page 35 of 48




91.

92.

| 110,
2y then the CoMmgy,
If sum of first n terms of an A.P. is (Sn-n")

difference of the AP, is

A) 4

B) -2

c =2 (D) 6

64 16

81 *yo °©
(A) el den (B) uida w&@n
(C) quls wem (D) ST&Ha §&AT

64 16 .

'8—1" + —g- 15
(A)  Rational number (B) Irrational number
(C)  Aninteger (D)  Natural number

2 afohe wenatt 34+ 08 men 3-J5 & TS B U
(A) il @

(B) 3I9feyT wwm
(C) it W (D)  WFa dem
The product of two irrational numbers 3+J6 and 3-J5 will be
a/an :
(A)  Rational number (B) Irrational Aumber
(C) Integer (D)

Natura] number

[240M)-H/S-3 100 T-qeo700| Page 36 of 48



n (110]
93. ' '

7 7
7 7
© 15 D} z=

The simplest form of (0«5 + O-Z] is

(A) 1—2— . (B) %-
7
© 1y 0) g

94, ﬂ&lSﬁ:Z‘xSnySzﬁax-ryi-z-

(B) S

5

(A)
c 3 D) 6

1{156.=2"x3”x13‘,thcnx+y+ z=

A) 4 (B} 5
(c) 3 (D) 6
g9s5. J10 nJ1_5 ?
(A) Siei §E (B) Ay FEW
(C) quis @e (D) NTFA TG
J10 x/15 is
(A) Rational number (B) Irrational number
(C) [nteger (D) Natural number
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1110|

96. -2?% % ¥4 A 0-105 A for@r 1 w2
x
21 _ 21
(A) = (B) 2B 55
21 21
c D
(C) Pas? (D) 2 52
In the form of —£__  .105 can be written as
i gﬂxsm
21 21
(A) B
22,‘ 5‘2 ': l 23)‘ 53
21 21
() £ __ D
23y 52 (D) 2x 53
97. =R q WEmai w1 Rowo = 25 3% Howo = 50 2 @ FSNAT ¥ TAEH
B
(A) 1250 B) 1150
(C) 1350 (D) 1050
If H.C.F. of two numbers = 25 and L.C.M = 50 then the product of
numbers will be
(A) 1250 (B] 1150
(C) 1350 (D) 1030
98. IR MUT RN a=bger F £=61,9=277 r=~ 2 A A q 5 TF
1 B 2
A 1679 (B) 1600
(C} 1669 (D) 1696

"
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| u If in division algorithm a- bger, b =61, q=27 and r = 32, then

|

a9.

100.

[ 110]

whitl 18 the value of a ?

(A) 1679 B3) 1600

() 1609 D) 1696

af q i v ke B Q) Pl § @ @i e faun (ot R?
(A)  O6qg+ ! (3) bg+2

(C) 6q+A D) 6g+6

Il ¢ is o posilive integer, which of the following is an odd positive

integer ?
(A) 6qg+I (B) 6g+2
(C) 6g+4 D) 6g9+6

&) e e wwn i &1 wowo g R

(A 0 B) |
() 2 D)y 3
The H.C.F. of two canseculive odd numbers is
(A) O (B |

) 2 (D) 3
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wuz - @ / SECTION - B

oY TwAT W¥ / Short Answer TYP Questions

: ‘& . i
wy waar 1# aomwmm?”ﬁ#w”m TR Wi

WY & frg 2 3@ fatfa 1
e ok
Question Nos. 1 to 30 are Short Answer Type Queshons. AnSwer g,

15 questions. Each question carries 2 marks.
L. Qﬁﬁgﬂmmmﬁﬁaﬁ:tﬂiﬁ%mﬂﬂ-“-l&ﬁ]@
t_al_ﬁ)%l 2

Find the area of the triangle, whose vertices are (0,4),13,6)ang

(-8, - 2) respectively,

o 2
2. R Fewt: cosec 39° cos 51° + tan 21° cot 69° - scc " 217 2

o 2490
Evaluate : cosec 39° cos 51° + tan 21° cot 69° - sec” 21°,

3. f&g # f¥ sec*o-tan*6=1+2tan’s. 9

Prove that sec® 8-tan® 0=1+2tan’0.
4, fag=tfs (J2+2)° @ it den R 2
Prove that (V2 + 2)2 is an irrational number.

5. T agw x* -3 ¥ 13w T w ol et qun onet F o % g

$ gogar $1 @l wU 2

Find the zeroes of the quadratic polynemial x% -3 and verify the
rclationship between the zeroes and the co-efficients,

24(M)-H/5-41001 0
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10.

11.

110

g . .
. aEIR x -2X - x+2 # wEw x?-3x+2 Aum 3 2
Divide polynomial x* -2x> - x+2 by the polynomial x?-3x+2.
: ajﬁsmwhﬂmwmaﬂzszqiswmnommﬁa 2
Using Euclid division algorithm, find the HCF of 252 and 594.
, Preffig siEsi w A A *
_ , P
L 4 6 8 10 12
TR 4 8 14 11 3
. -
Find the mean of the following data :
Variable 4 6 8 10 12
Frequency 4 - 8 14 11 3

ﬁﬁﬁﬂﬁﬁmmqﬂ*msﬂmﬁmﬁﬁﬂﬁsﬁqﬂ%ﬁﬂ
4wt B g W R 2

A circle is of radius 6 cm. Find the length o
m centre of the circle.

f that chord of the

circle, which1isat a distance 4 cm fro

Jx’—sax—zmmmqﬂmmm@aiagqa

afg HE9G (@ +2
2

< |

If one zero of the polynomial (a+2}x _3ax-2 is negative of other
then find the polynomial.
agﬁwnqmﬁma;aﬂammvhsgzwﬁmﬁgmw

%iﬁiaﬁmmaﬁ%uamﬂ%mﬁlﬁ'l 2

The sum of the digits of a two-digit number is 9. If 9 is added to the
number the digits of the number arc reversed. Write the equation

for these statements,

Page 41 of 48

izq:ml-ﬁfs-uool-mm,i




12.

13.

14,

15.

16.

7.

[ 110

mﬂ‘“ﬁn.@y:om ﬁx_'@y:oﬁlgﬁfwmﬂm

faft @ za = 2

Solve the pair of cquations J3 x+J3y =0 and ﬁx_ng =0 by

the method pof substitution or elimination.

@ o™ § T, ded @ Sad e 26 . 14 7w 65 H & A
TN W Ind gt Sawer wn & .

The length, breadth and height of a cuboid are 26 m, 14 m and

6'5 m respectively. Find the latcral surface area of the cuboid.

3
fordt ¥em F THyE = ATES AU WA FA: 064 H2 aul 396 M7 A
w3 6 B aen Fard 7@+ 2

The curved ;urfacc area and volume of a cylinder are 264 m?® and
396 m Jrespcctivcly. Find the radius and height of the cylinder.
feedt v & Inur A Hem 747 Rt 7w 3= 21 AR 2 A TF F AER
et -2
The base radius of a cone is 747 cm and its height is 21 ¢m. Find
the volume of the cone.

gfe frdft ALP. & 9UW 14 OS1 1AM 1050 B AT 30 UUW 92 10 & @
20 af 9g T ®L 2

If the sum of the first 14 terms of an A.P. is 1050 and its first term
is 10, find the 20th term.

AP, F yuw 22 9 ® A 7@ Kt el ad I 7R s 2291 W
149 2l 2

Find the sum of first 22 terms of an A.P. in which common
difference is 7 and 22nd term 1s 149,

|24(M)-H/s—41001-rmfm ] Page 42 of 48
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18.

19.

20.

21.

22.

23.

24,

_ | 110 ]
FTE B9 ABC 9 5% YW1 o R A fug w6 Boge w1 ol S

—‘gia g 2
Each side of an cquilateral triangle ABC is a. Provc that the

B,

alutudc of the triangle is

3
R @fiem 9x? _6x+] -0 & Rdws g W @ B G I Wl
< 2
gx2-6x+1=0

Find the discriminant of the quadratic equation

and hence find the nature of the roots.

k % fe wet % R Ruw @l (ke 1)x? -2(k=1)x+1=0 & I
& g P 2
For what values of k has the
(k+1)x? - 2{k - 1)x+1=0 equal roots ?

ﬂﬁﬁﬂﬁA.P.mmmM'ﬂam:4am—s§a’lma.9.m
R~ 2 T 2 2

If the 3rd and the 9th terms of an A.P. are 4 and - 8 respectively,

quadratic cquation

which term of this A_P. is zero ?

k¥ fre g % fg sl kxey=1 MM (k+1)x+2y=3 F H3 &
T 7 2

For what value of k, equations kx+y=1 and (k+1)x+2y=3 have

no solution.
4tan245" +cos? 30" -sin? 60" F.HH I Hll 5

Find the value of 4tan? 45" +cos? 30" -sin’ 60"
wei x+%=3,x¢0 & el # A H 2

Find the roots of the equation x+i-=3, x#0.
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20,

27,

28.

29,

30.

110
af fid A8 BCm

2

AABC & Wiy fnga § fredas - AC - 13 3 8

R 0 ciu B sk s e @ A BC ) wd @ R
in which AB = AC = 13 cm. If the

AABC s an isosceles triangle
BC is 5 cm, find the

length of perpendicular from the vertex Alo

length of BC.
x &1 W Praet R g Regall P(x, 4) @ Q(9,10) % #T H 70
10 %18 R 2

Find the value of x for which the distance between the points
P(x, 4) and Q{9, 10} is 10 unils.

Regafi (- 3, 10) 3 (6, - 8 ) 7 Agd T2 twrae @ fag (- 1, 6) Fm
T A fanfaa e @ 2 2
In what ratio ciocs the point ('— 1, 6 ) divide the line segment joining
the points (-3, 10 ) and (6,-8) ?

T 15 W Fdft B SR F Wy 60° H B W @) fan 7 3w g &

Fard s &t sl ) Qan & wyl w2 2

A ladder 15 m long makes an angle of 60° with the wall. Find the
height of the point on the wall where the ladder touches the wall.

wh ot i e @ g N dwrd 15 3t B) 20 fEr F @ go @ fem
T #A%H ATd HL 2

The length of the minute hand of a clock is 15 cm. Find the area
swept by it in 20 minutes.

ﬁmﬁ@m&wmtlwﬁ%maﬁmﬁ_mﬁmﬁngﬂﬁ
H&1 714 ) wifiea =1 @it 2 2

Two dice are thrown al the same time. Find the probability that the
sum of the two numbers appearing on the top of the dice are morc
than 9.

—_— — —————
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1110 ]
It T W Long Answer Type Questions

qyA AT 31ﬂaaﬁﬂmmilﬂﬁﬁﬁ4mﬁtmilm
v & fau 5 s fraifie ¥ 4x5=20

Question Nos. 31 to 38 are Long Answer Type guestions. AnSWwer any

4 questions. Each question carries S marks.

s wlw Y 3x-S5y+1=0 T 2x-y+3=0 w1 A d@fd 3R

31.

32.

33.

34,

4x5=20

-

T | S

Draw the graph of the pair of lincar equations 3x-5y +1=0 and

2x -y+3=0 and solve them.

3 Sterd P

The arca of a rectangular ficld is 260
becomes 5 metre less and breadth 2 metre more, it becames a

square field. Find the length and breadth of the rectangular field.
Rre i f @ wwEy Bl & &6 & mgmamﬁmgmaﬁﬁialﬂ%

square metre. If its length

 3a ¥ e g R 5

Prove that the ratio of the arcas of two similar triangles is equal 10

the ratio of the squares of their corresponding sides,

3 3
frg # 5 =5 0, £o== 0  _ secOcosecO (secO + cosecO ).
sec?0-1 cosec’0-1

sec? 0 . cosec0

= sec( cosecQ [ secO + ¢ )
sec20-1 cosec’d—1 l osect !

Prove that
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N .,

36.

37.

1110
= 7 W TN 20 M g o ol @her e & I SR B FEE & g

ﬁmmﬂ%ﬂmzzmuuﬁamﬁ@ﬂmmm%'mm
#) F9% I\ *Y) S

A 20 m deep well with diemeter 7 m is dug and the soil from
dlgg“‘g is cw.:nly spmad oul to form a plalform of 22 m » 14 m,

Find the height of the platform.
T WM & TR-fa & w waw & fvae 1 39 B0 30° @ 3RORA &

T fag @ M & R . 3w @ 600 31 TR dm so At St @ A
v ) I 7 =) 5

The angle of clevation of the top of a building from the foot of a
tower is 30° and the angle of elevation of the top of the tower from

the foot of a building is 60°. If the tower is 50 m high, find the
height of the building.

4 afl, 5 &f 3k 6 AN vEnal T @ By H w w3l R T
qIEY 0% 34 B A e w R ot wem B ) wm e
2

Rkl 3
Construct a triangle of sides 4 cm, S ¢cm and 6 cm and then

construct an another tnangle similar 10 it whose sides are % of the

" corresponding sides of the first triangle.
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| 110 |

~ JTA

80-85

85-90

90-95

95-100

100-105

105-110

110-115

ARl

33

27

85

155

110

45

15

Find the mode of the following distribution :

[ E—
110-115

Class- 80-85 | 85.90 1 90-95 [ 95 100 | 100-105 | 105-110

interval L )

s 1

Frequency | 33 27 85 155 110 45
—————
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